
 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 1 

FAA - H3-50th Male 
Full Assembly 

FAA-H3-M001-H 

Leg Assembly 
86-5001-001-H Left 
86-5001-002-H Right 

Lower Torso Assembly, 
FAA H3-50th 
FAA-H3-M040-H 

Arm Assembly 
78051-123-H Left 
78051-124-H Right 

Shoulder Assembly 
78051-410-H Left 
78051-420-H Right 

 

Neck Assembly 
78051-90-H 

Upper Torso Assembly, 
FAA H3-50th 
FAA-H3-M030-H 

Head Assembly 
78051-61X-H 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 2 

FAA - H3-50th Male 
Head Assembly 

78051-253 
Washer - Nodding Joint 

9000677 
Washer - Stripper Bolt 
.250 ID x .375 OD x .06 Thk 

78051-383X 
Neck Transducer  
Structural Replacement 

9000452 
Screw, SSCP 8-32 x 1/4 

9000005 
Screw, SHCS 1/4-20 x 5/8 

78051-220   
Skull Cap  78051-77XB  

Skull, 6 Axis, Ballasted 

78051-228-H  
Head Skin, Tested 

78051-229-H   
Cap Skin 

9000264 
Screw, SHCS 1/4-28 x 7/8 1717 

Pivot Pin - Neck 

83-5006-001 
Skull Cable Clip 

9000538 
Screw, 
BHCS 10-32 x 3/8 

78051-222ADS 
Accelerometer Mount Plate 

9005032 
Screw, SHCS,  
10-24 x 5/8 

7264-A  
Accelerometer 
Mounting Block 

90000531 
Screw, SHCS, 2-56 x 5/8 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 3 

FAA - H3-50th Male 
Neck Assembly 

9000005* 
Screw, SHCS 1/4-20 x 5/8 
(Ref) 

78051-301 
Neck Cable 

78051-297 
Nodding Joint 

78051-351-88 
Nodding Blocks, Rubber 

9008001* 
Washer, Flat 1/4 x 1/2 
(Ref) 

78051-336-H 
Neck, Molded 

9000447 
Screw, FHCS 1/4-20 x 3/4 

78051-307* 
Upper Neck Bracket 
(Ref) 

9000018 
Nut, Hex Jam 1/2 –20 

78051-322 
Bushing 

9008007 
Washer, Flat , 
.515 ID x .875 OD 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 4 

FAA - H3-50th Male 
Left Shoulder Assembly 

78051-249   
Washer - Shoulder 
& Elbow Joint 
Spring 

78051-188 
Clavicle Link  
Assembly, LH 

78051-360 
Yoke Assembly - 
Shoulder 

9001015 
Nut, Hex Jam  
3/8-16 Nylok 

9000047 
Screw, SHCS, 
 10-24 x 3/8 

78051-246 
Bushing, Shoulder 
Yoke Pivot 

78051-248  
Washer - Shoulder 
Yoke Pivot 

78051-141  
Clavicle 
Assembly,  
Left, HIII 50th 

78051-247  
Washer, Shoulder 
Yoke Pivot 

78051-238 
Nut, Clavicular 
Link Pivoting 

78051-236 
Washer, Clavicular 
Link Pivoting 

78051-200 
Washer - Upper 
Arm, elbow Pivot 

78051-199 
Bushing - Upper 
Arm, elbow Pivot 

78051-240 
Spring - Clavicle 
Stop (Fore & Aft) 

78051-244 
Stop, Steel, 
Shoulder Yoke Pivot 

78051-250   
Washer - 
Shoulder Yoke 
Retaining 

78051-242 
Stop Assembly - 
Rubber, Shoulder 
Yoke Pivot 

78051-243 
Flat Washer 

9000043 
Screw, SHSS, 
 1/2 x 1 

78051-241 
Spacer - Clavicle 

9006001 
Screw, SHSS 
1/2 x 1 1/4 

78051-243 
Flat Washer 

78051-245 
Stop Assembly - 
Shoulder 

9006001 
Screw, 
SHSS 1/2 x 1 1/4 

78051-202   
Upper Arm 
Pivot Nut   

9000041 
SHCS 
1/4-20 x 3/8 

78051-155 
Clavicle 
Bushing 

78051-190 
Bushing, Clavicle 
Pivot 

78051-249   
Washer - Shoulder 
& Elbow Joint 
Spring 

78051-237 
Washer, Nut, 
Clavicular 
Link Pivoting 

78051-236 
Washer, Clavicular 
Link Pivoting 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 5 

FAA - H3-50th Male 
Right Shoulder Assembly 

78051-249   
Washer 
Shoulder 
& Elbow 
Joint Spring 78051-245 

Stop Assembly - 
Shoulder 

78051- 360 
Yoke Assembly -  
Shoulder 

9000047 
Screw, SHCS  
10-24 x 3/8 

78051-247   
Washer, 
Shoulder Yoke 
Pivot  

78051-248  
Washer 
Shoulder Yoke 
Pivot 

78051-142  
Clavicle Assembly,  
Right, HIII 50th 

78051-246   
Bushing, Shoulder 
Yoke Pivot 

9006001 
Screw, SHSS 
1/2 x 1 1/4 

78051-200 
Washer - Upper 
Arm, Elbow Pivot 

78051-199 
Bushing - Upper 
Arm, Elbow Pivot 78051-244 

Stop, Steel, 
Shoulder Yoke Pivot 

78051-250   
Washer - Shoulder 
Yoke Retaining 

78051-242 
Stop As-
syShoulder 
Yoke Pivot 

78051-243 
Flat Washer 

9000043 
Screw, 
SHSS 1/2 x 1 

78051-241 
Spacer - Clavicle 

78051-240 
Spring  
Clavicle Stop 
(Fore & Aft) 

78051-189  
Clavicular Link 
Assembly - RH 

78051-238 
Nut, Clavicular 
Link Pivoting 

78051-236 
Washer Clavicular 
Link Pivoting 

9006001 
Screw, SHSS 
1/2 x 1 1/4 

78051-202   
Upper Arm Pivot Nut 

78051-155 
Clavicle 
Bushing 

78051-190 
Bushing, Clav 
Pivot 9000041 

SHCS 
1/4-20 x 3/8 

78051-249   
Washer Shoulder 
& Elbow Joint Spring 

78051-237 
Washer, Nut, 
Clavicular Link 
Pivoting 

78051-236 
Washer Clavicular 
Link Pivoting 

9001015 
Nut, Hex Jam  
3/8-16 Nylok 

78051-243 
Flat Washer 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 6 

FAA - H3-50th Male 
Left Arm Assembly 

78051-208-H 
Hand, Molded, Left 

9006003 
Screw, SHSS 3/8 x 1 1/2 

78051-199 
Bushing, Upper Arm & 
Elbow Pivot 

9000055 
Screw, 
SHSS 1/2 x 1 1/4 

78051-200 
 Washer, Upper  
Arm & Elbow Pivot 

78051-202 
Nut, Elbow Pivot  

9001260 
Washer, 1.06 OD x .53 ID 

9000074 
Screw, 
SHSS 3/8 x 1 

78051-214 
Screw, 
Wrist Pivot 

78051-204 
Wrist Rotation 

78051-191 
Upper Arm, 
Lower Part 

78051-249 
Washer, Shoulder & 
Elbow Joint Spring 

78051-194-H 
Lower Arm, Molded 

78051-174-H 
Upper Arm Molded 

78051-198 
Stop, Lower Arm 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 7 

FAA - H3-50th Male 
Right Arm Assembly 

78051-209-H 
Hand, Molded, Right 

78051-194-H 
Lower Arm, Molded 

9006003 
Screw, SHSS 
3/8 x 1 1/2 

78051-199 
Bushing, Upper Arm & 
Elbow Pivot 

9000055 
Screw, 
SHSS 1/2 x 1 1/4 

78051-200 
 Washer, Upper  
Arm & Elbow Pivot 

78051-202 
Nut, Elbow Pivot  

9001260 
Washer, 
1.06 OD x .53 ID 

78051-174-H 
Upper Arm Molded 

9000074 
Screw, 
SHSS 3/8 x 1 

78051-214 
Screw, 
Wrist Pivot 

78051-204 
Wrist Rotation 

78051-191 
Upper Arm, 
Lower Part 

78051-249 
Washer, Shoulder & 
Elbow Joint Spring 

78051-198 
Stop, Lower Arm 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 8 

FAA - H3-50th Male 
Chest Components 

78051-233   
Front End  
Stiffener Plate 

78051-234 
Front Rib End 
Strip Threaded 

FAA-H3-003-H 
Chest Flesh 

78051-357 
Sternum Assembly w/ (–9),(-356) Bumpers 

78051-232 
Sternum w/o Bumpers 

78051- RS 
Rib Set Complete, Tested 
 

78051- 35 
Rib #1 Assy, Untested 
 

78051- 36 
Rib #2 Assy, Untested 
 

78051- 37 
Rib #3 Assy, Untested 
 

78051- 38 
Rib #4 Assy, Untested 
 

78051- 39 
Rib #5 Assy, Untested 
 

78051- 40 
Rib #6 Assy, Untested 

78051-215 
Bib Assembly 

78051-316  
Transducer 
Arm Slider 

78051-304   
Rib Rear Support 

9000025 
Screw, BHCS  
10-32 x 5/8 

9003017 
Screw, BHCS  
10-32 x 1/2 

78051-9 
Stop, Sternum 

78051-356 
Stop, Sternum 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 9 

FAA - H3-50th Male 
Thorax Spine Assembly 

78051-225 
Screw, FHCS 
10-32 x .330  

78051-179 
Spine Box, HIII-50th 

9005063 
Screw, SHCS 5/16-24 x 3/4 

9008003 
Washer, Flat 
.328 ID x .562 OD 

78051-78 
Adaptor Assembly -  
Machining 

9005047 
Screw, SHCS 3/8-16 x 1 

78051-303 
Bracket - Neck Adjusting, Lower 

9000009 
Screw, 
SHCS 1/4-20 x 3/4 

78051-235 
Bumper, Shoulder 

9009230 
Screw, FHCS 1/4-28 x 5/8 

78051-26 
Weight - Thorax CG 

78051-305 
Clamping Washer, HIII 50th 

9009010 
Bearing, Ball 

78051-156A 
Accelerometer Mount 

7264-A  
Accelerometer Mount Block 

9000531 
Screw, SHCS, 2-56 x 5/8 

9000624 
Screw, SHCS, 
10-24 x 1/2 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 10 

FAA - H3-50th Male 
Lower Torso Assembly 

78051- 498-2 
Right Femur Bumper 

FAA-H3-001 
Thorax/Lumbar Adaptor 

SID-SM-002 
Upper Spacer, 
SID Spine 

9000009 
Screw, SHCS, 1/4-20 x 3/4 

78051-498-1 
Left Femur Bumper 

78051-13 
Pelvic Cavity Cover 

9000009 
Screw, SHCS  
1/4-20 x 3/4  

ATD-3250-2-H 
Abdominal Insert 

9000624 
Screw, SHCS 

*78051-111 
Femur Assembly, Right, 
w/o bumper 

*78051-115 
Femur Assembly, Right, 
w/bumper 

78051-259 
Set Screw  
Assembly 

78051-69 
Cable Assembly, 
Lumbar Spine 

**78051-110 
Femur Assembly, Left, 
w/o bumper 

**78051-114 
Femur Assembly, Left, 
w/bumper 

9000059 
Screw, SHCS, 3/8-16 x 3/4 

SID-SM-001 
Lower Spacer, 
SID Spine 

9000018 
Nut, Hex Jam, 1/2 - 20 

ATD-7102 
Lumbar Spine, Tested 

9000479 Screw,  
SHCS, 3/8-16 x 1-1/2 

7264-A  
Accelerometer Mount Block 

78051-60-H 
Molded Pelvis 

* 

** 9000345 
Screw, BHCS  
8-32 x 3/8  

9000063 
Screw, SHSS 
5/8 x 1 3/4 

ATD-7116-FAA-FT 
Lumbar/Pelvic 
Adaptor 

9005006 
Screw, SHCS, 
1/4-20 x 2 

9000020 
Screw, SHCS, 3/8-16 x 3 1/4 

78051-54C 
Accelerometer 
Mount 

9000531 
Screw, SHCS, 2-56 x 5/8 

*ATD-7144 
Machine, Bar Spacer 
(2) Supplied -  
Use as necessary 

9005076 Screw,  
SHCS, 3/8-16 x 2 1/2 

* 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 11 

FAA - H3-50th Male 
Left Upper Leg Assembly 

78051-27 
Knee Flesh, Insert 

ATD-3800-1-H 
Upper Leg, Left 

ATD-7131-1 
Weldment, 
Upper Leg Bone, 
Left 

9000449 
Screw, SHCS 
3/8-16 x 1 3/4 

78051-5-H 
Knee Flesh, Left 

78051-319 
Load Cell Simulator 

79051-22 
Knee Cap 

79051-32  
Washer, LH & RH 

9000066 
Screw, SHCS 
3/8-16 x 2 

79051-34 
Rot. Stop Cover 

79051-30 
Shoulder Bolt, Modified 

79051-33  
Compression Washer, 
LH & RH 

79051-25P 
Ped Knee Slider, 
Outboard 

79051-24P 
Ped Knee Slider, 
Inboard 

9005079 
Screw, SHCS, 8-32 x 1/2 

79051-35  
Rotation Stop Arm, LH & RH 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 12 

FAA - H3-50th Male 
Right Upper Leg Assembly 

78051-27 
Knee Flesh, Insert 

ATD-3800-2-H 
Upper Leg, 
Right 

ATD-7131-2 
Weldment, 
Upper Leg Bone, 
Right 

9000449 
Screw, SHCS 
3/8-16 x 1 3/4 

78051-6-H 
Knee Flesh, Right 

78051-319 
Load Cell Simulator 

79051-22 
Knee Cap 

79051-32  
Washer, LH & RH 

9000066 
Screw, SHCS 
3/8-16 x 2 

79051-34 
Rot. Stop Cover 

79051-30 
Shoulder Bolt , 
Modified 

79051-33  
Compression Washer, 
LH & RH 

79051-30 
Shoulder Bolt , 
Modified 79051-35 

Rotation Stop Arm, 
LH & RH 

9005079 
Screw, SHCS, 8-32-1/2 

79051-24P 
Ped Knee Slider, 
Inboard 

79051-25P 
Ped Knee Slider, 
Outboard 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 13 

FAA - H3-50th Male 
Left Lower Leg Assembly 

78051-600-H 
Foot Assembly, Left 

A-1886 
Foot Attachment 
Bolt 

78051-73s-H 
Lower Leg 
Flesh, Left 

B-1889 
Ankle Assembly 

9000126 
Screw, SHCS 
1/4-28 x 5/8 

2110 
Knee Weldment -
Structural 
Replacement 

1877 
Tibia Bone 

A-1887 
Leg 
Attachment 
Bolt 

9004028 
Screw, FHCS 
1/4-28 x 3/8 

78051-608 
Heel Pad 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 14 

FAA - H3-50th Male 
Right Lower Leg Assembly 

78051-601-H 
Foot Assembly, Right 

A-1886 
Foot Attachment 
Bolt 

78051-74s-H 
Lower Leg 
Flesh, Right 

B-1889 
Ankle Assembly 

9000126 
Screw, SHCS 
1/4-28 x 5/8 2110 

Knee Weldment -
Structural 
Replacement 

1877 
Tibia Bone 

A-1887 
Leg 
Attachment 
Bolt 

9004028 
Screw, FHCS 
1/4-28 x 3/8 

78051-608 
Heel Pad 



 

 

Product 
Catalog 

© Humanetics, 23300 Haggerty Road, Farmington Hills, MI 48335, United States of America, humanetics.humaneticsgroup.com 5/2021 

 Page 15 

FAA - H3-50th Male 
Ankle Assembly 

9000072 
Pin, Dowel 
3/16 x 1/2 

A-1672 
Stop Pin  
Retainer 

C-1884 
Ankle Upper Shell 

A-1888 
Ankle Friction Pad 

9000073 
Screw, SSCP 
5/16-18 x 3/8 

A-1590 
Ankle Shaft 

9006010 
Screw, SSCP 
10-32 x 1/4 

C-1885 
Ankle  
Lower Shell 

78051-610 
Ankle Bumper 

9000076 
Screw, BHCS 
8-32 x 1/2 


